NOTES FROM YESTERDAY:

Dot Product: -
Ifu= <al,a2,a3>and V= (bl,bz,b3>

then uev=ab, +a,b, +a.b,

I u.v = 0, then vector u and v are perpendicular.




NOTES: 9.5

The cross product finds a vector that
Is perpendicular (orthogonal) to 2 given
vectors that are in the same plane.

a X b = cross product

T Not a multiplication symbol.
A matrix will be used to
calculate the cross product.



Example: find a 3™ vector that is
perpendicular to the two given vectors.

a = <—2, -~ l>

—_—

b =(2,5,—4)

so... X Z_7 :<()j ?j ()>




Given: -~ . . 1ststep: setupa3by3
Vo) kK determinant
=< -2, =3, 1> .
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2"d step: evaluate using
2 by 2 minor determinants
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See notes 10.6 ior more details
about determinants!!




2"d step: evaluate using
2 by 2 minor determinants
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EQUATION OF ASPHERE ~ NOTES: 9.3 (part 2)

An equation of a sphere with center C(h, k, [) and radius r is

(x—h)P+(y—k)P+(z-D*=r

Example: Center = (5, -2, 1?) Radius =8
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FIGUREB Sphere with radiu
enter C(h, k, I)



Assignment: 9.3#18, 11-17 9.5#3.4,7,8,10a,11a
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T e egg [Certe 0
Radins = Jog
(% )

15-18 m Center and Radius of a Sphere Show that the equation
represents a sphere, and find its center and radius.

15. x> +y*+ 22— 10x+ 2y + 82 =9
vy oTe il A Solve by
16. x* + y* + 2> + 4x — 6y + 2z = 10 | gathering like
17. x> + y* 4+ 22 = 12x + 2y terms a_nd
completing
18.) x* + y* + 2> = 14y — 62 the square.







